1. Rozwiaz w pamigci rownania

a) t+3=10 b) y+4 =10 c)x—3="T
d) ¢—3 =53 e) y+25=17 f) z+23 =5
g) T—7=-5 h) y—33=13 i) z—33=3
) =2 k) 252 =5 ) 2l=1

2. Dokonujac odpowiednich przekszstalcen rozwiaz réwnania:
a) 9 +7=3zx—11 b)) 2c+7=29—2z ¢) 3— Tz =4z —19
d)52+7=3z+18 e)6z—15=3z—-9 f) 2(z +6) =28 — 2z
g) 120 —7=3z+20 h)2(z+2)=5z—-1) i) 3z—2=11z+20

3. Rozwigz réwnania:
a)l—(4—3x)=5x+3 b) 7— (3 —5z) =2z — (4= + 3)
c)2x+5—(4x—2)=10—(52—-23) d)2z+3—(6—5z)=3z+7
e)b(x—2)+23z—-7) =22 — (3x+8) f)5dzx=2(7—-2x)—(2-3x)
g)73—2z)—(3—4x)=2x— (4z+6) h)8z— (3z+2)=2z+16
)4Bz—1)—-2z—-1)=z— (T —3) j)7+3z=4z— (2z-2)
k)3xz+1)—(z—2)=122z-5 1) 4z — (2 — z) = 2(5z + 4)



